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An unbalanced 4 wire star connected load has balanced voltage of 400V, the loads
are Z;=(4+j8)Q); Z»=(3+j4)Q2; Z3=(15+j20)Q2. Calculate the i) line current ii) current
with neutral wire iii) total power.

A three phase, balanced delta connected load of (4+j8) Q is connected across a
400V, 3 — @ balanced supply. Determine the phase currents. Assume the phase
sequence to be RYB,

OR

A three phase balanced delta connected load of (4+j8)Q2 is connected across a
400V, 3 ¢ balanced supply. Determine the phase currents and line currents.
Assume the phase sequence to be RYB. Also calculate the power drawn by the
load.

The readings of the two watt meters used to measure power in a capacitive load
are -3000W and 8000W respectively. Calculate the input power. Assume RYB

sequence.
UNIT-I

Find the expression of f (t) in the graph shown below.

Find the Laplace transform of the function f (t) = 3t* -2t> +4e 3 -2sin5t +3cos2t.

OR

Determine the inverse transform of F (s) = (s2+s+1)/s(s+5)(s+3).

From the circuit shown below, find the value of current in the loop.

1

1/sC

UNIT-III

A series R-C circuit consists of resistor of 10 and capacitor of 0.1F as shown in the
figure. A constant voltage of 20V is applied to the circuit at t = 0. What is the current
in the circuit att = 0?

|
]

:_ 0.1F

™

™

™

™

™
™

™

™

Page 10of 2



Code: 4G242

b) In the circuit shown below, the switch is closed at t = 0. Applied voltage is
v(t)=400cos (500t+11/4). Resistance R=15Q, inductance L=0.2H and
capacitance=3 pYF. Find the roots of the characteristic equation.

S 15
-~ AN
400cos (500t + /4 0.24
I 3uF
OR

6. a) The circuit shown in the figure consists of resistance, capacitance and inductance
in series with a 100V source when the switch is closed at t = 0. Find the equation
obtained from the circuit in terms of current.

S 20

/ A

e 100V 1

b) A series RL circuit with R=50Q and L=0.2H has a Sinusoidal Voltage source v=150

Sin500t.Find the expression for i(t).
UNIT-IV

7. a) Whatis the Fourier sine series of f(x) = 1 /4 — x/ 2 , where 0 <x<TI.
b) Compute the Fourier transform of the signal

‘ 1, for-5<t<5
X =
©=o, for 5<|t| <10

X(t) periodic with period 20.
OR
8. a) Calculate the Fourier series of f(x) = x? where 0 <x< 21 and f has period 2r1.
b) Compute the Fourier transform of the signal x(t)=cos(2rtt).

9. a) Write the necessary conditions for transfer function.

b) For the network shown in the figure, find the driving point impedance.

1

* rv'\:v*\_
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-
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5

OR
10. a) Explain the procedure of testing passive real functions.

b) Consider the impedance function Y(s)=(s?+4s+3)/(3s?+18s+24). Find the value of
Ro, R1, C1, Rzand C; after realizing by second Foster method.
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Explain the principal of operation of transformer. Derive its e. m. f. equation.

OR
With relevant phasor diagrams, explain the operation of a practical single phase transformer
operating on unity and lagging power factor loads.

A 2.4kV/115V transformer has sinusoidal flux expressed by 0.113sin188.5t. Determine the

primary & secondary turns.
UNIT-II

Draw the Exact and approximate equivalent circuits of 1-® transformer and explain.

A 1-phase transformer has 180 turns respectively in its secondary and primary windings.
The respective resistances are 0.233 Q and 0.067 Q. Calculate the equivalent resistance of
(i) the primary in terms of the secondary winding, (ii) the secondary in terms of the primary
winding, and (ii) the total resistance of the transformer in terms of the primary and
secondary.

OR

In a transformer, derive the condition for maximum efficiency and thus find the load current
at which the efficiency is maximum.

A200kVA 1-phasetransformer is in operation continuously. For 8 hours in a day, the load is
160kW at 0.8 pf. For 6 hours, the load is 80kW at unity pf and for the remaining period of
24 hours it runs on no-load. Full-load copper losses are 3.02 kW and the iron losses are

1.6 kW. Find all-day efficiency.
UNIT=III

Draw the Connection diagram of Y- Y and A - A connected three-phase transformer.
OR

Explain the open delta connected three-phase transformer with neat diagram.

Explain why an induction motor will never run at its synchronous speed?

A3-phase, 50Hz squirrel cage induction motor runs at 4% slip. What will be frequency of
rotor currents? And speed of the machine?

OR

Explain how rotating magnetic field of constant amplitude is produced in 3-phase induction
motor.

A 3-phase, 400 V, 50 Hz, 6-pole induction motor drawing a line current of 78 A at 0.8 p.f.
Calculate synchronous speed, slip, rotor frequency and rotor speed.

Explain the principle of operation of Induction generator with the help of torque -
speed characteristics.

OR
Describe how the speed control of induction motor is achieved from stator side?

A 4 pole, 50 Hz, wound rotor IM has a rotor resistance of 1.1 ph and runs at 1460 rpm at full
load. Calculate the additional resistance per phase to be inserted in the rotor circuit to lower
the speed to 1200 rpm, if the torque remains constant.
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UNIT-I

1. a) Derive an expression for the transfer function of an armature controlled DC servo

motor. 10M
b) Distinguish open loop and closed loop control system. AM
OR
2. Find the closed loop transfer function of the given system using block reduction
technique.
G
R C(:
2 ﬁg G
{H]
l_.._l’*l 14M
UNIT=II
3. Derive the time domain specifications of a second order system 14M
OR
4 N specificati OR a%order =sysi
' For the given system, o nd 1 find the
G(s) = ;_;2+s+2) . H(s) = s+1) '

steady state error constants for unit step, unit ramp and unit parabolic input

(5)u®

14M
UNIT=II
NS = RS

5. dback control system has an open loop transfer function of

A unity fee K .
G(s) — s(sz+4s+3) >ketch the root locus 14M
OR
6. a T o OR » :
) A system has (s)1 K Where  sitive. Determine
F(S) = s5(5+2)(s+4)(5+8) el
the range of X fOr Seapiiity. 10M
b) Discuss the effect of adding a pole/zero to the open loop transfer function and its
effect on the root locus of a system aM
UNIT-IV
7 opan loop 1
' Plot the bode diagram for the transfer function av_| K
G(s) = s5(1+0.45)(1+0.15)
Also obtain the gain and phase cross over frequencies 14M
OR
Al btain th i . . .

8. seoplain e 9 1 st plot for a system with _ transfer function
Sketch the Nw_ﬁ;,:Jl+s)2 _ '
G(s)H(s) = _-_c_sg— . Find the range of value of g for yhich the system is
stable. 14M

UNIT-V
9. Derive the transfer function of Lag, Lead and Lag-Lead compensator using
electrical network 14M
_ OR
10. slectrical lead compensator for a system with transfer function
Design a |l
G(s) = E-H’-ls) for the specifications: acceleration error constant K,=10 and
phase margin @PM — 300 14M
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1. a) Evaluate [e*x™'sinbxdxin terms of Gamma function

0 ™
b) Iftan(q +if )=€*, then show that (i) g =(n+%j%
- 1 p a
i) f ==logtan| =+ —
1 =5l (4 2) ™
OR
1 y? 1
2. @) Prove that [— o X[ x __P_
o1-x* o1+ xt 42 ™
b) Separate the real and imaginary parts of
(i) sin(x+iy) (i) cos(x+iy) (i) tan(x+iy) 7M
UNIT-II
3. Derive Cauchy Riemann equations in cartesian coordinates 14M
OR
4. a) Find the analytic function whose real part is Sn2x :
cosh2y —cos2x 7™
b) If f(z)is aregular function of z, prove that V°|f (z)|2 =4|f ’(z)|2. M
UNIT-III
5. @) Evaluate U‘je—zdz, where Cis |7 =4.
“(Z+p?) ™
b) Find the Laurent’s series expansion of f (z) =Lin the region
(z+1)z(z-2)
1<|z+1]<3. M
OR
6. a) If f (z) is analytic in the ring-shaped region Rbounded by two concentric circles
Cand C,of radii r and r, (r >r,) and with the centre at a, then for all zin R,
prove that
f(z):a0+a1(z—a)+a2(z—a)2+————+a_l(z—a)71+a_2(z—a)72+————
1 f(t
where a, =—,U]LM
i (t-a) ™
b) Expand sinzin a Taylor’s series about z=0and determine the region of
convergence. ™
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UNIT-IV
cos3y

By integrating around a unit circle, evaluate jjp—dq
5-4cosq

: 2 2

Evaluate Eﬁsmp Z°+cosp z

, dz, where Cis the circle|z|=3
¢ (z-1)(z-2)

OR

ax

Evaluate [” dx

e +1
UNIT=-V

Show that W=!_—Z maps the real axis of z-plane into the circle |vv| =1land the half
i+z

plane y> Ointo the interior of the unit circle |wj =1in the w-plane.

Find the bilinear transformation which maps 1, i, -1 to 2, i, -2 respectively. Find the
fixed and critical points of the transformation.

OR
Discuss the transformation w=¢e”.

Prove that the transformation w=sinz, maps the families of lines

X = constant and y = constant into two families of confocal central conics.
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